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CHEMISTRY

BOOKS - USHA CHEMISTRY (ODIA
ENGLISH)

ELECTRO CHEMISTRY

1. Out of Cu, Ag, and Mg the metal which can

displace all others from their aqueous salt


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cua81pQDEccw

solution is-

A. Cu

B.Zn

D. Mg

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cua81pQDEccw

2. Which of the following solutions can be

stored in copper vessel?

A. AgN03

B. AuCl;

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_egfqvtKTiMHv
https://dl.doubtnut.com/l/_iOQLoTO1DD5m

3. What is the charge on one mole of electrons

?
A.1.6 x 10~ coulomb
B. 6.28 x 10" coulomb
C.9.65 x 10* coulomb
D. 6.023 x 10** coulomb
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iOQLoTO1DD5m

4. In electroplating the article to be

electroplated is made as-

A. Cathode

B. Anode

C. Either cathode or anode

D.Simply suspended in the electrolytic

solution

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6dMF1K3al8nH

5. The following reaction takes place in a lead
storage battery during discharging.
Pb + PbO, + 4H + SO, " — 2PbSO, + 2H,0

.It Is a case of reaction.

A. Redox
B. Disproportionation
C. Comproportionation

D. Metathetical

Answer:



https://dl.doubtnut.com/l/_6dMF1K3al8nH
https://dl.doubtnut.com/l/_n8laO22FyRVW

Watch Video Solution

6. What amount of electricity is required to

deposite Tmole copper from a solution of

CuSOy?

A. 2F

B.1F

C.3F

D. O.5F

Answer:


https://dl.doubtnut.com/l/_n8laO22FyRVW
https://dl.doubtnut.com/l/_Rj2onsh2zhhu

° Watch Video Solution

7. The limiting molar conductance of

NaCl,KBr,KCl are 126,152 and 150

ohm ~tem?mo <! respectively. The limiting

molar conductance of NaBr is-
A. 128
B.302
C.428

D. 176


https://dl.doubtnut.com/l/_Rj2onsh2zhhu
https://dl.doubtnut.com/l/_jXK6YmmNoOez

Answer:

o Watch Video Solution

8. The correct order of equivalent conductance

at infinite dilution of LiClI,NaCl,KCl is

A. LiCl > NaCl > KC(CI

B. L:Cl < NaCl < KCI

C. NaCl < KCIl < LiCl

D. KCl < NaCl < LiCl


https://dl.doubtnut.com/l/_jXK6YmmNoOez
https://dl.doubtnut.com/l/_l7SsltqaI5s5

Answer:

o Watch Video Solution

9. When a rod of metal ‘A’ is dipped in aqueous
solution of metal ‘B> at 25°C, what will

happen? (Given standard electrode potentials

are A>" / A=-0.76V and B*" / B= +0.34V)

A. (a) ‘A will gradually dissolve
B. (b) ‘B’ will deposition ‘A

C. (c) Water will decompose


https://dl.doubtnut.com/l/_l7SsltqaI5s5
https://dl.doubtnut.com/l/_sSCxqSIoy5U5

D. (d) No reaction will occur

Answer:

o Watch Video Solution

10. The best conductor of electricity is a 1M

solution of

A. Boric acid

B. Acetic acid

C. Oxalic acid


https://dl.doubtnut.com/l/_sSCxqSIoy5U5
https://dl.doubtnut.com/l/_DO1AT6FLfGw4

D. Sulphuric acid

Answer:

° Watch Video Solution

M. If 'V, in the equation, A = K x V is the
volume in cc containing 1gm equivalent of the
electrolyte, V' for an N /10 solution will be-

A. 10cc

B. 100cc


https://dl.doubtnut.com/l/_DO1AT6FLfGw4
https://dl.doubtnut.com/l/_5wd9I2wPeUp2

C. 1000cc

D. 10000cc

Answer:

° Watch Video Solution

12. Electrolytes conduct electricity due to

movement of-

A. Atoms

B. ions


https://dl.doubtnut.com/l/_5wd9I2wPeUp2
https://dl.doubtnut.com/l/_HaVF4Eb8uw4D

C. Electrons

D. Molecules

Answer:

o Watch Video Solution

13. The mass of a substance liberated at the

electrode is directly proportional to its-

A. Atomic mass

B. Equivalent mass


https://dl.doubtnut.com/l/_HaVF4Eb8uw4D
https://dl.doubtnut.com/l/_RzChQuUPjpKD

C. Molecular mass

D. None of these

Answer:

° Watch Video Solution

14. The unit of electrochemical equivalent is

A. gm / coomb
B. gm / ampere

C. Coomb /gm


https://dl.doubtnut.com/l/_RzChQuUPjpKD
https://dl.doubtnut.com/l/_23eQo3SyTIPx

D. gm.coulomb

Answer:

° Watch Video Solution

15. The correct relationship between

energy change and cell potential is-

A ANG° = —nFE”°

B. A G° =nFE°

nkF

C. LG =

free


https://dl.doubtnut.com/l/_23eQo3SyTIPx
https://dl.doubtnut.com/l/_HbmYXc0OXGOU

nk”°

D. A G° = —

Answer:

° Watch Video Solution

16. A current of 0.75A is passed through an

acidic CuS0O, for 10 min. the volume of

oxygen liberated at anode at STP will be

A. 0.261cc

B. 26.1cc


https://dl.doubtnut.com/l/_HbmYXc0OXGOU
https://dl.doubtnut.com/l/_aK88HNzghzoS

C.52.2 cc

D. 0.522cc

Answer:

o Watch Video Solution

17. The electrolysis of hydrochloric acid results
in the formation of 1 gm equivalent of H, gas
at the cathode. The weight of Cl, liberated at

anode is


https://dl.doubtnut.com/l/_aK88HNzghzoS
https://dl.doubtnut.com/l/_ec3uY58uYO1D

A.1gm

B.17.75gm

C.35.5gm

D.71gm

Answer:

o Watch Video Solution

18. The exact value of emf of cell can be

measured by means of


https://dl.doubtnut.com/l/_ec3uY58uYO1D
https://dl.doubtnut.com/l/_V9zDyuxFoQtq

A. Potentiometer

B. Galvanometer

C. Polarimeter

D. Ammeter

Answer:

o Watch Video Solution

19. When one conlomb of electricity is passed
through an electrolytic solution, the mass

deposited is equal to


https://dl.doubtnut.com/l/_V9zDyuxFoQtq
https://dl.doubtnut.com/l/_usocjB3IAnPn

A. The chemical equivalent

B. The atomic weight

C. the electrochemical equivalent

D. The molecular weight

Answer:

o Watch Video Solution

20. The standard reduction potential for the

reaction, 2Cu’t + 2e~ 7 Cu is +0.34V. the


https://dl.doubtnut.com/l/_usocjB3IAnPn
https://dl.doubtnut.com/l/_WQOZenhwkn3Y

standard electrode potential for the reaction,

20u?T + 4e — 2Cu will be

A. 034V

B. 0.51V

C. 0.68V

D. Unpredictable

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WQOZenhwkn3Y

21. At infinite dilution the equivalent

conductance of CH3COONa, HCl and NaCl
are 91426 and 1267 ohm lem?geq !
respectively. The equivalent conductance of
CH;3;COOH at infinite dilution is nearly equal
to

A. 126

B. 209

C.390.3

D. 908


https://dl.doubtnut.com/l/_rtH8G6mjp1NZ

Answer:

o Watch Video Solution

22. The electrolytic products of aqueous

solution of NaOH are

A. Na, F2

B. Na,, 02

C. Hy, O,

D. H,, Fy


https://dl.doubtnut.com/l/_rtH8G6mjp1NZ
https://dl.doubtnut.com/l/_sNEdFgk9sGwE

Answer:

o Watch Video Solution

23. For a redox reaction to be spontaneous,

the e.m.f. should be

A. -ve

B. +ve

C. zero

D. Any of these


https://dl.doubtnut.com/l/_sNEdFgk9sGwE
https://dl.doubtnut.com/l/_VEYMjmcv2Ipi

Answer:

o Watch Video Solution

24. When same quantity of current is passed
through two different electrolytes connected
in series, the amount of products liberated at

the electrodes are in the ratio of their.

A. Atomic mass

B. Equivalent mass

C. Molecular mass


https://dl.doubtnut.com/l/_VEYMjmcv2Ipi
https://dl.doubtnut.com/l/_qHeIpHkpni8m

D. Atomic number

Answer:

o Watch Video Solution

25. During electrolysis the reaction occurs at

anode is

A. Reduction

B. Oxidation

C. Redox


https://dl.doubtnut.com/l/_qHeIpHkpni8m
https://dl.doubtnut.com/l/_x0EIP2k4yCej

D. Hydrolysis

Answer:

o Watch Video Solution

26. The number of faradays required to
deposit 27gm ‘Al’ from a solution of AIC5 will
be

Al

B.2


https://dl.doubtnut.com/l/_x0EIP2k4yCej
https://dl.doubtnut.com/l/_SAgfjrwEUmgT

C.3

D.4

Answer:

° Watch Video Solution

27. Which of the following equations is

correct?

A. Conductance = specific conductance X

cell constant


https://dl.doubtnut.com/l/_SAgfjrwEUmgT
https://dl.doubtnut.com/l/_sfJ2T8mst7Qg

B. Equivalent conductance = specific

conductance X cell constant

C. Conductance = equivalent conductance

X cell constant

D. Cell constant = specific conductance/

conductance

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sfJ2T8mst7Qg

28. Which of the following solution of NaCl has

the lowest value of Specific conductance?

A 1M

B.0.1IM

C.0.01M

D. 0.001M

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_T0jW35i2knIW
https://dl.doubtnut.com/l/_zfnhQjtv8U7g

29. 317 gm of a substance was deposited by

the flow of 0.Imole of electrons. The equivalent

weight of the substance is

A.0.317

B.3.17

C.31.7

D.63.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zfnhQjtv8U7g
https://dl.doubtnut.com/l/_5oPUjypbntoK

30. When electricity is passed through a

solution of AICIs, 13.5gm of ‘A’ metal is

deposited. The number of faraday must be

Al

B.15

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5oPUjypbntoK

31. The passage of current through the
solution of a certain electrolyte results in the
liberation of H, at the cathode and Cl, gas at

anode. The solution in the container could not
be

A. NaCl(aq)

B. KCl(aq)

C. CuClsy(aq)

D. MgCls(aq)

Answer:


https://dl.doubtnut.com/l/_a3bgYaxB6wZF

° Watch Video Solution

32. The increase in molar conductance of HCI

with dilution is due to

A. Increase in degree of dissociation of HCI

B.Increase in degree of dissociation of

water

C. Increase in ionic mobility

D. Increase in interionic force of attraction


https://dl.doubtnut.com/l/_a3bgYaxB6wZF
https://dl.doubtnut.com/l/_gKQc11Q6XX97

Answer:

o Watch Video Solution

33. Which of the following statements is

wrong?

A. Na™ has different molar conductance

at infinite dilution in NaCl and NaBr

Ac

oo

B. Degree of dissociation (a) =


https://dl.doubtnut.com/l/_gKQc11Q6XX97
https://dl.doubtnut.com/l/_9UPV9AwtzooZ

C. Kohlraush law is used to find A , value

for weak electrolytes

D. froo (H3S04) = 2ptoe (H ) oo (SO2~

Answer:

o Watch Video Solution

34. Which of the following statement is true

about Zn — CuSO, cell?

A. Electron flows from Cu to Zn-electrode


https://dl.doubtnut.com/l/_9UPV9AwtzooZ
https://dl.doubtnut.com/l/_0lLW6Kh1y30z

B. Standared reduction potential of Zn’ is

more than ‘Cu’

C.‘Zn’ is anode and ‘Cu’ is cathode

D. All the statements are correct

Answer:

o Watch Video Solution

35. The cell reaction, Zn + 2Ag,, — Zn"?Ag

can be represented by


https://dl.doubtnut.com/l/_0lLW6Kh1y30z
https://dl.doubtnut.com/l/_j4JlFZmytyWo

A Ag/Ag)| | Znlf | Zn
B.2Ag. Ag | | Zn/Znl;
C.Zn/Znl] | | AGS, | Ag

D.Zn/ Zn%) | | Agal | Ag

Answer:

o Watch Video Solution

36. The electrode potential of normal

hydrogen electrode is


https://dl.doubtnut.com/l/_j4JlFZmytyWo
https://dl.doubtnut.com/l/_Mtlj1CcFjeHZ

A. O volt

B.1volt

C. 10 volt

D.01 V

Answer:

o Watch Video Solution

37.When an electric current is passed through

acidified water, 112ml of H, gas collected at


https://dl.doubtnut.com/l/_Mtlj1CcFjeHZ
https://dl.doubtnut.com/l/_nM1sWufdoWUX

NTP at cathode in 965sec. the current strength

IS

A.1amp

B.0.5 amp

C.0.1 Amp

D. 2amp

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nM1sWufdoWUX

38. Which of the following does not change

the value of electrode potential?

A. Concentration of the solution

B. Temperature

C. Pressure of the gaseous substance

D. stochiometry of half cell reaction

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ttn2SvMxJgRU
https://dl.doubtnut.com/l/_hoEehgX0iZAU

39. Which will be decomposed when electric

current is passed through its aqueous

solution?

A. Glucose

B. Urea

C. Common salt

D. Benzene

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hoEehgX0iZAU
https://dl.doubtnut.com/l/_Kdqh7HrCvyn0

40. The degree of dissociation of

CH;COOHSol", can be increased by

A.Adding more CH3COOH to the

solution

B. Adding more water to the solution

C. Decreasing temperature of the solution

D. Stirring the solution vigorously

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Kdqh7HrCvyn0

41. The unit of equivalent conductance is

A. Ohm
B.Ohm lem2eq 1
C.Ohm  tem 2

D. Ohmem ™ 2eq ™1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_o6cXobBt2cT1

42.In galvanic cell

A. Electrons move from anode to cathode

B. Electrons move from cathode to anode

C. Electrons move through the salt bridge

D. Oxidation occurs at cathode

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oVuJRjDBhK31

43. Which of the following will increase the cell
potential of the cell?

A. Increasing the size of Zn’ rod

B. Increasing Zn*" ion concentration

C. Increasing the size of ‘Cu’ rod

D. Increasing Cu® " ion conc.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0s9aQrCgnTxU
https://dl.doubtnut.com/l/_9q1EM9yctL7A

44, By electrolysing a solution of dilute
H,;50, in presence of platinum electrodes the

gas evolved at anode is

A. 50,

B. 503

C. O,

D. H,

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9q1EM9yctL7A
https://dl.doubtnut.com/l/_Tqpp3YJvKd5Q

45. What is the ECE of Ag? (Atomic weight

=108)

o Watch Video Solution

46. Write the unit of resistivity.

o Watch Video Solution

47.1 Faraday of electricity is coulomb.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tqpp3YJvKd5Q
https://dl.doubtnut.com/l/_J9N1f8fLdgir
https://dl.doubtnut.com/l/_Lq9pDeSLiqkG

48. During discharging of lead storage battery

which electrolyte is consumed?

° Watch Video Solution

49. Write the relationship between cell

potential and equilibrium constant.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lq9pDeSLiqkG
https://dl.doubtnut.com/l/_ni03Y5Gf0D88
https://dl.doubtnut.com/l/_T82Y8an3noxT

50. How many moles of Hs will be liberated
when 2 faradays of electricity is passed

through 0.1IM 'H 2SO 4 solution?

o Watch Video Solution

51. Write the Nernst equation for a half cell

reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_6KwtNe6yfHlD
https://dl.doubtnut.com/l/_pa7qkJ3fuuxC

52.In galvanized iron, the iron is coated with a

layer of metal.

o Watch Video Solution

53. Name the chemical substances used for

silver plating.

o Watch Video Solution



https://dl.doubtnut.com/l/_DNvownOjR5wt
https://dl.doubtnut.com/l/_zFv8nTeI1R3Y

54. During electrolysis of molten calcium

hydride H, gas is liberated at

o Watch Video Solution

55. What is electrolytic cell?

o Watch Video Solution

56. Write the electrolysis products of CuSO,

solution using Pt-electrode.



https://dl.doubtnut.com/l/_B9wmQ2yEIR1M
https://dl.doubtnut.com/l/_ZNHwWyIflHfH
https://dl.doubtnut.com/l/_tuDrc2anJ9sp

o Watch Video Solution

57. In the cell Zn/Zn*"//Cu** /Cu,

electrons flow from electrode to

electrode.

o Watch Video Solution

58. Two metals A and B have E}, = — 0.76V
and EY, = + 0.80V respectively. Which

metal will diplace Hy from dilute Hy,50,?

| & I


https://dl.doubtnut.com/l/_tuDrc2anJ9sp
https://dl.doubtnut.com/l/_DxGKWrKQbvuY
https://dl.doubtnut.com/l/_lEpQyAw4nXLJ

| ¥ Watch Video Solution |

59. How many Faradays of charge are required

to convert 1 mole C"rinD to Crét ?

o Watch Video Solution

60. Define equivalent conductance of an

electrolyte.

o Watch Video Solution



https://dl.doubtnut.com/l/_lEpQyAw4nXLJ
https://dl.doubtnut.com/l/_GtHK4fhSvfpy
https://dl.doubtnut.com/l/_jruScxfeoSmT
https://dl.doubtnut.com/l/_is2F5vCzVZky

61. What is the charge carried by 1 mole nitride

ion?

o Watch Video Solution

62. Write two factors influencing electrolytic

conductance.

o Watch Video Solution

63. Write two applications of electrolysis.

o Watch Video Solution



https://dl.doubtnut.com/l/_is2F5vCzVZky
https://dl.doubtnut.com/l/_OxPnBd7qC5A0
https://dl.doubtnut.com/l/_3pY32uobAZJS

64. Define electrochemical equivalent.

o Watch Video Solution

65. What is the charge in coulomb carried by

an oxide ion?

o Watch Video Solution



https://dl.doubtnut.com/l/_3pY32uobAZJS
https://dl.doubtnut.com/l/_0dvqalFL6Lui
https://dl.doubtnut.com/l/_7uqBvEbT6C4h

66. Which one of the following is a weak

electrolyte? NaCl, CH;— COOH, HCI)

° Watch Video Solution

67. Between 1M CH3COOH and 0IM
CH3;COOH ,which has higher electrical

conductivity?

° Watch Video Solution



https://dl.doubtnut.com/l/_sHxekizYbL25
https://dl.doubtnut.com/l/_UWNpI4LaYSmv

68. Why does the equivalent conductance of a

strong electrolyte increase with in dilution?

° Watch Video Solution

69. Find the number of electrons present in 1

coulomb charge?

o Watch Video Solution



https://dl.doubtnut.com/l/_39zrEIChzJ9c
https://dl.doubtnut.com/l/_IIawtBPc70Ax

70. How much electric charge is required to

oxidise 1 mole water to oxygen?

o Watch Video Solution

71. Write the factors influencing electrode

potential of a metal.

o Watch Video Solution



https://dl.doubtnut.com/l/_01wJGCZHzCmQ
https://dl.doubtnut.com/l/_X5DUmtHWojkc

72. How does equivalent conductance of a

weak electrolyte vary with dilution?

o Watch Video Solution

73. Electrolytes conduct electricity due to

movement of-

o Watch Video Solution

74. Write the Zn — CuSO, cell reaction.



https://dl.doubtnut.com/l/_sT3PPpYVrvn6
https://dl.doubtnut.com/l/_rSmMXZaGqXLf
https://dl.doubtnut.com/l/_1BFB3rYB3FJv

o Watch Video Solution

75. What is strong electrolyte? Give an

example.

° Watch Video Solution

76. While constructing a galvanic cell, the
electrode with higher reduction potential is

chosen as while the electrode with lower

| & I


https://dl.doubtnut.com/l/_1BFB3rYB3FJv
https://dl.doubtnut.com/l/_mMwbNzHIru72
https://dl.doubtnut.com/l/_YiOQFedbuda5

| ¥ Watch Video Solution |

77. Why does fused NaCl conduct electricity?

o Watch Video Solution

78. quantity of electricity will deposit 10.8

gm of ‘Ag’ at cathode from aAgNOj solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_YiOQFedbuda5
https://dl.doubtnut.com/l/_FpRqdDjphZmJ
https://dl.doubtnut.com/l/_aGZwC7YckEdL

79. What is the charge on one mole of

electrons ?

o Watch Video Solution

80. If a spoon to be electroplated with silver ,
would it be made as cathode or anode in the

cell?

o Watch Video Solution



https://dl.doubtnut.com/l/_b3ojWV7QNEAP
https://dl.doubtnut.com/l/_WF8EIpvuqs1L

81. How does specific conductance vary with

dilution?

° Watch Video Solution

82. What is the relationship between molar
conductance and equivalent conductance for

an electrolyte?

° Watch Video Solution



https://dl.doubtnut.com/l/_qTL4Hj2W5PtP
https://dl.doubtnut.com/l/_9HZnQoD2i47T

83. Write the Nernst equation for the

electrode reaction: Cu2;” + 2e — Cu(s)

° Watch Video Solution

84. At infinite dilution the molar conductance
of Na* and SO,  are 500 'cm’mo <~

and 160Q 'em®mo <! respectively. What
will be the molar conductance of sodium

sulphate at infinite dilution.

° Watch Video Solution



https://dl.doubtnut.com/l/_NaIw6lcyMCs9
https://dl.doubtnut.com/l/_odsLcLhPtVSE

85. Find the charge in coulomb required for
oxidation of 1mole hydrogen proxide to

oxygen.

° Watch Video Solution

86. What is the effect of increasing conc. Of

Zn**t | Zn electrode?

o Watch Video Solution



https://dl.doubtnut.com/l/_odsLcLhPtVSE
https://dl.doubtnut.com/l/_NjJfS18djL3E
https://dl.doubtnut.com/l/_OUlrOd9KCQSF
https://dl.doubtnut.com/l/_jI2YwmNtc0Li

87. Give the relationship between chemical
equivalent and electrochemical equivalent of

an element?

o Watch Video Solution

88. Between Li"™ and Na™ which has ion
which has higher ionic conductance in molten

state?

o Watch Video Solution



https://dl.doubtnut.com/l/_jI2YwmNtc0Li
https://dl.doubtnut.com/l/_ZeOxHNImg2C6

89. Define electrolyte and give an example.

o Watch Video Solution

90. Which substance is used for Cu-plating?

o Watch Video Solution

91. Define specific conductance of an

electrolyte.

o Watch Video Solution



https://dl.doubtnut.com/l/_PhPWbYFVXJ7p
https://dl.doubtnut.com/l/_oHoMBb1EivCf
https://dl.doubtnut.com/l/_Mve3FcMViepz

92. Arrange the following in increasing order
of their conductance in their aqueous

solution.(urea,NaCl,Ch 3COOH)

° Watch Video Solution

93. Why can’t CuSO, solution be stored in an

iron vessel?

o Watch Video Solution



https://dl.doubtnut.com/l/_Mve3FcMViepz
https://dl.doubtnut.com/l/_22dIlutHaBmv
https://dl.doubtnut.com/l/_QKjOqUPeRKPA
https://dl.doubtnut.com/l/_HSrRdDq6Rrel

94. For the zinc electrode the standard
oxidation potential is +0.76V. then what is its

standard reduction potential?

o Watch Video Solution

95. Why can’t ‘Cu’ displace Hy gas from dilute

acids?

° Watch Video Solution



https://dl.doubtnut.com/l/_HSrRdDq6Rrel
https://dl.doubtnut.com/l/_IyHalwGsEMtG

96. Define molar conductance.

o Watch Video Solution

97. The unit of equivalent conductance is

o Watch Video Solution

98. At which condition of A G,a cell will

function?

o Watch Video Solution



https://dl.doubtnut.com/l/_isGLafDzwT0g
https://dl.doubtnut.com/l/_7tDYc8LfYmuX
https://dl.doubtnut.com/l/_E2tmbJTiT6Fd

99. If same quantity of electricity is passed
through CuSO,4 and ZnS0O, solution, which

metal will be deposited in more quantity?

° Watch Video Solution

100. What are the electrolytic products of

aqueous NaCl?

o Watch Video Solution



https://dl.doubtnut.com/l/_E2tmbJTiT6Fd
https://dl.doubtnut.com/l/_yySw3XzHz0Y5
https://dl.doubtnut.com/l/_vC12FpFtDPvK
https://dl.doubtnut.com/l/_oIpKsMjtT7UJ

101. What is galvantic cell?

o Watch Video Solution

102. In an electrolytic cell oxidation occurs

at and reduction at

o Watch Video Solution

103. Suggest two materials other than H, that

can be used as fuels in fuel cell.

| & I


https://dl.doubtnut.com/l/_oIpKsMjtT7UJ
https://dl.doubtnut.com/l/_vqdgKl7ONMbn
https://dl.doubtnut.com/l/_59kBlCQLweWj

| ¥ Watch Video Solution

104. State Kohlrausch’s law.

o Watch Video Solution

105. What is fuel cell?

o Watch Video Solution

106. Name the substance in fuel cell?

| &


https://dl.doubtnut.com/l/_59kBlCQLweWj
https://dl.doubtnut.com/l/_3TJVHoSNHqIn
https://dl.doubtnut.com/l/_Cwt0P7CUk32X
https://dl.doubtnut.com/l/_Kfw6FFWHFkXQ

| ¥ Watch Video Solution |

107. What are the electrolytic products of

aqueous NacCl?

o Watch Video Solution

108. What happens to pH of NaCl solution

after electrolysis and why?

o Watch Video Solution



https://dl.doubtnut.com/l/_Kfw6FFWHFkXQ
https://dl.doubtnut.com/l/_BTucQyNGN9tq
https://dl.doubtnut.com/l/_NxUyMjdizvb6
https://dl.doubtnut.com/l/_hcDbz5PoQT0v

109. Explain, why liquid HCl and pure H,O are
non-conductor , while the solution of HCI in

water is a strong electrolyte.

o Watch Video Solution

10. Explain why ‘Al’ metal can’t be obtained by

electrolysis of Aly(SO,) solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_hcDbz5PoQT0v
https://dl.doubtnut.com/l/_j2EkJuH3wD1C

111. What happens to the ph of the solution

when acidulated water is electrolysed?

° Watch Video Solution

12. Give a comparison between electrolytic

cell and electrochemical cell ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lhPlH9TEBAnR
https://dl.doubtnut.com/l/_SxGPhCbsbYu0

113. Explain, why AgNQO; solution can't be

stored in copper vessel.

° Watch Video Solution

114. Define electrochemical series ?

° Watch Video Solution

115. Write the cell reaction that occur during

discharging of lead stoage battery.



https://dl.doubtnut.com/l/_4HYohNRf2WQo
https://dl.doubtnut.com/l/_2Ow6pbC0cq0y
https://dl.doubtnut.com/l/_IAedxEafYrSS

o Watch Video Solution

116. Why blue colour of CuSOy solution fades

when an iron rod is dipped into it ?

o Watch Video Solution

117. Between Na ™ and Li™ what will have
higher ionic conductance in their aqueous

solution and why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IAedxEafYrSS
https://dl.doubtnut.com/l/_q8zMsANkrPcL
https://dl.doubtnut.com/l/_RrniuY9gAWFR

118. From Kohlrausch's law how can you find
the degree of dissociation of a weak

electrolyte ?

° Watch Video Solution

119. Explain, why NaCl can conduct electricity in

molten state and not in solid state.

o Watch Video Solution



https://dl.doubtnut.com/l/_RrniuY9gAWFR
https://dl.doubtnut.com/l/_eQWr6MvaBbN1
https://dl.doubtnut.com/l/_TnaDqmkJJMfj
https://dl.doubtnut.com/l/_lM4fIK2d0JIU

120. Explain, why sodium metal can't be
obtained by the electrolysis of aqueous NaCl

solution.

o Watch Video Solution

121. Write the electrolytic products of CuSO,

solution using Cu-electrode.

° Watch Video Solution



https://dl.doubtnut.com/l/_lM4fIK2d0JIU
https://dl.doubtnut.com/l/_Uq2Q8qOJjvrU

122. What do you mean by equivalent

conductance at infinite dilution ?

o Watch Video Solution

123. Write two applications of electrochemical

series.

o Watch Video Solution



https://dl.doubtnut.com/l/_bcIRc4ZB7K4W
https://dl.doubtnut.com/l/_fyVYIKOPe510

124. What is standard reduction potential ?
Write the cell potential in terms of reduction

potential

o Watch Video Solution

125. What is the relationship between molar
conductance and equivalent conductance for

an electrolyte?

o Watch Video Solution



https://dl.doubtnut.com/l/_340jnhpql4W7
https://dl.doubtnut.com/l/_0KRGmGZUvNPK
https://dl.doubtnut.com/l/_nLGslwnngA5m

126. Represent in Cu — AgNQOj5 cell and write

the net cell reaction.

o Watch Video Solution

127. Write the cell reactions in Hy — O, fuel

cell.

o Watch Video Solution



https://dl.doubtnut.com/l/_nLGslwnngA5m
https://dl.doubtnut.com/l/_RwWXM0qpdPqH

128. Explain, why specific conductance
decreases, while equivalent conductance

increases with increase in dilution.

o Watch Video Solution

129. Aqueous solution of NaOH and H550,
using Pt-electrodes produces same products

at the electrodes, explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_MJLY79MQ2HIZ
https://dl.doubtnut.com/l/_Ziw9QuzcTPBw
https://dl.doubtnut.com/l/_uY450d5mCSFS

130. What is difference between metallic

conductor and electrolytic conductor ?

° Watch Video Solution

131. Find the mole ratio of 'Cu' and 'Ag'
deposited when same quantity of charge is
passed through solutions of CuSO, and

AgNQO;3 separetely (Ag =108, Cu - 63.5)

o Watch Video Solution



https://dl.doubtnut.com/l/_uY450d5mCSFS
https://dl.doubtnut.com/l/_7zXPtfczuDDC
https://dl.doubtnut.com/l/_0mrRf8MRbtWH

132. 96500 coulomb charge deposits 108 gm
silver considering the charge of one electron
is 1.6 x 107 19C, find the value of Avogadro's

number

o Watch Video Solution

133. Find the number of atoms of ‘Ag’
deposited at the cathode from AgNO;
solution when 96.5C of electricity is passed

through its solution. (Atomic mass of Ag =108)

o Watch Video Solution



https://dl.doubtnut.com/l/_0mrRf8MRbtWH
https://dl.doubtnut.com/l/_HkWCivMnGBNo

134. Find the charge in coulomb required for

reduction of 0.5 mole MnO, to Mn2T ion.

° Watch Video Solution

135. A current of 0.15 A passed through a salt
solution for 150 minute depositing 0.783 g of
the metal . If atomic mass of the metal is 112,

then find valency of the metal.

o Watch Video Solution



https://dl.doubtnut.com/l/_HkWCivMnGBNo
https://dl.doubtnut.com/l/_d5i0jhR2kbEG
https://dl.doubtnut.com/l/_wgwWLnUbFiDy

136. The values of A, for NH,Cl, NaOH and

NaCl are 120.6, 248.2 and 136.4

ohm ~tem®mol ™! respectively. Calculate AZ,

for NH,OH.

o Watch Video Solution

137. Calculate the half cell potential at 25°C
for the cell reaction Cu®" (aq) + 2e — Cu,
When [Cu2+] = 4M and

E° (Cu*" /Cu) = 0.34V.

| & I


https://dl.doubtnut.com/l/_bpbfQPpnu5xr
https://dl.doubtnut.com/l/_qruObrgNK81e

| ¥ Watch Video Solution |

138. How long a current of 2A is to be applied
through a solution of AgNO; to coat a

2 area and

material of metal surface 100 cm
0.005 mm  thickness ? (density of

Ag = 10.5gm /cm?>, & atomic mass = 108)

o Watch Video Solution

139. 0.35 mole of electron was passed through

AgNO; solution. Calculate amount of Ag


https://dl.doubtnut.com/l/_qruObrgNK81e
https://dl.doubtnut.com/l/_ANk06kB6IYgB
https://dl.doubtnut.com/l/_jPA1t6vQuxaA

metal deposited at the cathode.

o Watch Video Solution

140. What weight of silver will be deposited by
the same quantity of electricity which liberates

56 ml of O, at NTP from acidulated water ?

o Watch Video Solution

141. Find the quantity of electricity needed to

2

plate a metal of 100 ¢m? area and 10~ %cm


https://dl.doubtnut.com/l/_jPA1t6vQuxaA
https://dl.doubtnut.com/l/_LnYrewiadWW8
https://dl.doubtnut.com/l/_7XODOuYCGJHg

thickness using CuSO, solution. (density of
copper = 9.94 gm/cm3 and atomic mass =

63.5)

° Watch Video Solution

142. The specific conductance of a 0.01N
solution of CH3COOH is 0.000158
ohm ‘em ™! at 18°C. The equivalent
conductance of the acid at infinite dilution is

1

387 ohm 'em?® gm eq . Calculate the

degree of dissociation of the acid.

| e |


https://dl.doubtnut.com/l/_7XODOuYCGJHg
https://dl.doubtnut.com/l/_o4XizT3HWEQw

& Wwatch Video Solution I

143. How many moles of ‘Al’ can be deposited
by the electrolysis of molten Alumina using 3

faradays of electricity ?

° Watch Video Solution

144. Calculate the emf of the cell in which the
following reaction takes place at two

electrodes. Zn — Zn*" (4 +2e,


https://dl.doubtnut.com/l/_o4XizT3HWEQw
https://dl.doubtnut.com/l/_g5h1KymbIPpB
https://dl.doubtnut.com/l/_7CrRik5Y8mDi

E° = +0.76V Ag+(aq) +e — Ag,

E° = 4 0.80V

° Watch Video Solution

)

145. A cell is set up between Zn’ and ‘Cu
electrode. If the two half cells work under
standard condition, calculate the cell
potential. Given E°(Zn*" /Zn) = — 0.76V

and E° (Cu®t /Cu) = + 0.34V.

° Watch Video Solution



https://dl.doubtnut.com/l/_7CrRik5Y8mDi
https://dl.doubtnut.com/l/_Mns9qIVk3cZJ
https://dl.doubtnut.com/l/_I8uKIxZ1klod

146. The equivalent conductance of 0.001N KCl
solutin is 147 ohm ‘em2gmeq~! at 25°C.

Find the specific conductance.

° Watch Video Solution

147. Find the quantity of charge required for

the decomposition of 3.6 g water.

o Watch Video Solution



https://dl.doubtnut.com/l/_I8uKIxZ1klod
https://dl.doubtnut.com/l/_5OPlm32wjFF7

148. The specific conductance of a O0.12N
solution of an electrolyte is 2.4 x 102
1, —1

ohm ™ "cm Calculate its  equivalent

conductance.

o Watch Video Solution

149. At a certain temperature the specific
conductance of 040M KCl solution is
4.96 x 10 %ohm ~'em ~'. Calculate its molar

conductance.

| I


https://dl.doubtnut.com/l/_tLZ0aqTiRgaQ
https://dl.doubtnut.com/l/_cRq14VcQcNfH

| ¥ Watch Video Solution |

150. During electrolysis of ZnS0O, solution
6.023 x 10*° electrons flew through the
solution. Find the quantity of Zn’ deposited at

the electrode. (Zn = 65.37)

o Watch Video Solution

151. The specific conductance of a O0.12N

solution of an electrolyte is 2.4 x 102


https://dl.doubtnut.com/l/_cRq14VcQcNfH
https://dl.doubtnut.com/l/_5VNB9sVuHoCQ
https://dl.doubtnut.com/l/_zUkUl1L0ZoIK

-1

ohm ~lem Calculate its  equivalent

conductance.

° Watch Video Solution

152. The specific conductance of a solution is
0.356 ohm ~ ' em ~!. The conductance of this
solution in a cell was 0.0268 ohm ~!. Calculate

the cell constant.

o Watch Video Solution



https://dl.doubtnut.com/l/_zUkUl1L0ZoIK
https://dl.doubtnut.com/l/_yWsJWdLKBKxQ

153. A current of 4 amper is passed through
AgNQOs solution for 30 min, which deposits 7
gm of silver. Find the current efficiency. (Ag =

108)

° Watch Video Solution

154. What volume of Cl, is liberated at NTP by
the electrolysis of molten NaCl with 5A current

flowing for 20 minutes ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uwB9pxUVxTJ1
https://dl.doubtnut.com/l/_mskLbybA9hSZ

155. If  E°(Zn/Zn’%) = +0.76V,
E°(Ag™ /Ag) = +0.80V, find the emf of
the cell -

Zn/Zn**(0.01M)||Ag + (0.1M) / Ag.

o Watch Video Solution

156. 0.296 gm of a bivalent metal was
deposited by the passage of 0.54 current for
30 minutes through a solution of metal

sulphate. Calculate atomic mass of the metal.


https://dl.doubtnut.com/l/_mskLbybA9hSZ
https://dl.doubtnut.com/l/_MhSpNV84EAMu
https://dl.doubtnut.com/l/_RiFzG3AD9cz8

° Watch Video Solution

157. Calculate the volume of gaseous products
at NTP obtained by the electrolysis of
acidulated water using 10A current for 20

minutes.

o Watch Video Solution

158. 24125 coulomb electricity when passed

through an electrolyte deposits 2.25 gm of the


https://dl.doubtnut.com/l/_RiFzG3AD9cz8
https://dl.doubtnut.com/l/_YCQfyWwdfwv5
https://dl.doubtnut.com/l/_IdRreHXRXBLA

metal. If atomic mass of the metal is 27, find

oxidation number of the metal ion.

° Watch Video Solution

159. What amount of silver will be deposited
by passing 2F electricity through two
solutions containing 0.1MAgNO; and

0.2M AgNO; ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IdRreHXRXBLA
https://dl.doubtnut.com/l/_dRwqWNnrYR1E

160. How much current is necessary to
produce O, gas at the rate of 1 ml/sec from

acidulated water ?

o Watch Video Solution

161. What is Galvanic cell ? Discuss the

construction and working of Daniell cell.

o Watch Video Solution



https://dl.doubtnut.com/l/_7wsk1jJb0wbB
https://dl.doubtnut.com/l/_ACFhGEYo3AS9

162. Find the cell potential at 25° C' for the
cell-

Mg/ Mg**(0.001) /Cu®" (0.0001M) / Cu
Given E° (Mg** | Mg) = — 2.37V,

E°(Cu*t /Cu) = +0.34V

o Watch Video Solution

163. Define specific conductance and
equivalent conductance. Establish a relation

between them.

| I


https://dl.doubtnut.com/l/_2wpT0sEisxPK
https://dl.doubtnut.com/l/_t8JZv1FubseE

| ¥ Watch Video Solution |

164. The equivalent conductance of a
decinormal BaCl, solution is 121 ohm ~! em?

emeqg ! at a particular temperature. Find its

specific conductance and molar conductance.

o Watch Video Solution

165. Define electrochemical series ?

o Watch Video Solution



https://dl.doubtnut.com/l/_t8JZv1FubseE
https://dl.doubtnut.com/l/_Jp2WkpYfdcwi
https://dl.doubtnut.com/l/_UtXs4T98GqwI

166. Write short note on Law of independent

migration of ions.

o Watch Video Solution

167. Write short note on Nernst equation.

o Watch Video Solution

168. Write short notes on : Lead storage

battery



https://dl.doubtnut.com/l/_17k0OcuV8vzG
https://dl.doubtnut.com/l/_QWre15D5hqlF
https://dl.doubtnut.com/l/_3XRWC4o8DeG2

o Watch Video Solution

169. State and explain laws of electrolysis. How
much current in ampere is required to liberate
H, gas at the rate of 1ml/sec at NTP from HCl

solution ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3XRWC4o8DeG2
https://dl.doubtnut.com/l/_Q7Ani7mv0khB

